
//***************************************************************
//* MACRO:  FONTDN.WCM
//* PURPOSE:  Decreases the font size by two points.  This affects either selected text, or all
text following the current insertion point.
//***************************************************************
Application (A1; "WordPerfect"; Default; "UK")
If(?BlockActive<>0)

If(?TableInTable<>1)
PosSelectTop()
If(?RightCode=7124)

SelectMode(Off!)
CodesActive:=?RevealCodesActive
If(CodesActive=False)

RevealCodes(On!)
EndIf
PosCharNext()
If(CodesActive=False)

RevealCodes(Off!)
EndIf
CurrentSize:=?FontSize*0.06
ReselectLastSelection()

Else
CurrentSize:=?FontSize*0.06

EndIf
Else

SelectOff()
CurrentSize:=?FontSize*0.06
ReselectLastSelection()

EndIf
Else
CurrentSize:=?FontSize*0.06 // calculate the current size in points
EndIf
Remainder:=CurrentSize%1
If(Remainder > 0.5)

Adjustment:=1+Remainder
Else

Adjustment:=2+Remainder
Endif
NewSize:=(CurrentSize-Adjustment)/0.06 // calculate new size in WP units
If(NewSize>0)

FontSize(NewSize)
EndIf


